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The following table shows the percentage (%) distribution of total number of employees, males and graduates

of a company among six different departments A-F. The total number of employees of a company is 8000, in
which the ratio of Male to Female is 3:5 and Graduate to Post-Graduate is 3:2. Based on the data in the table,
answer the question.

Department-wise Distribution of Employees, Males and Graduates.

Department Dirtribution (%
Emploves Males Groduates
A 20% 25% 16%
B 12% 18% 17%
C 10% 15% 13%
D 22% 20% 10%
E 15% 10% 20%
F 21% 12% 24%
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FHARTT, g3 SR FaP! & [AUTTER fdaRo
o TR (%)

HHARI Y EEIGE
A 20% 25% 16%
B 12% 18% 17%
C 10% 15% 13%
D 22% 20% 10%
E 15% 10% 20%
F 21% 12% 249%

What is the number of employees working in department F who are Post-Graduate ?
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1[Option ID=30701] Question Description : general_paper_genarel paper_set 11_english_q1
2[Option ID=30702]
3[Option ID=30703]
4[Option ID=30704]
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The following table shows the percentage (%) distribution of total number of employees, males and graduates
of a company among six different departments A-F. The total number of employees of a company is 8000, in
which the ratio of Male to Female is 3:5 and Graduate to Post-Graduate is 3:2. Based on the data in the table.

answer the question.

Department-wise Distribution of Employees, Males and Graduates.

Department Dirtribution (%0)
Emploves Males Groduates
A 20% 25% 16%
B 12% 18% 17%
C 10% 15% 13%
D 22% 20% 10%
E 13% 10% 20%
E 21% 12% 24%
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FHAIA!, g2 SR W] &1 [GHTTaR faaro
o TATRTT (%)

HHAR Y Hadh
A 20% 25% 16%
B 12% 18% 17%
C 10% 15% 13%
D 22% 20% 109
E 153% 10% 20%
F 21% 12% 24%

What is the total number of male graduate employees working in department D ?

I.

2,
3.1280
4. Cannot be computed
1)1

2) 2

(3) 3

(4) 4

faUTT D & PR I59 WP SHARG! 1 Fa I b 82

1. 600

2. 480

3. 1280

4. T DT 31T ! fbaT S Yepall §

(1) 1

(2) 2

(3) 3

4) 4

1[Option ID=30705] Question Description : general_paper_genarel paper_set 11_english_q2
2[Option ID=30706]

3[Option ID=30707]
4[Option ID=30708]
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The following table shows the percentage (%) distribution of total number of employees, males and graduates
of a company among six different departments A-F. The total number of employees of a company is 8000, in
which the ratio of Male to Female is 3:5 and Graduate to Post-Graduate is 3:2. Based on the data in the table.

answer the question.

Department-wise Distribution of Employees, Males and Graduates.

Department Dirtribution (%0)
Emploves Males Groduates
A 20% 25% 16%
B 12% 18% 17%
C 10% 15% 13%
D 22% 20% 10%
E 13% 10% 20%
E 21% 12% 24%
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FHAIA!, g2 SR W] &1 [GHTTaR faaro
o TATRTT (%)

HHAR Y Hadh
A 20% 25% 16%
B 12% 18% 17%
C 10% 15% 13%
D 22% 20% 109
E 153% 10% 20%
F 21% 12% 24%

What is the difference between the total number of female emplovees and the total number of male employees
working in the company ?

1000
. 2000
. 3000
. 4000
1)1
(2) 2
3) 3
4) 4

S H BRI Afed SHANG 31 P ST R TN HHANRE! &1 Ha =1 & a9 SR fheT 82
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1.1,000
2.2.000

3. 3.000

4. 4,000

(1) 1

(2) 2

(3) 3

4) 4

1[Option ID=30709] Question Description : general_paper_genarel paper_set 11_english_q3
2[Option ID=30710]

3[Option ID=30711]
4[Option ID=30712]
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The following table shows the percentage (%) distribution of total number of employees, males and graduates
of a company among six different departments A-F. The total number of employees of a company is 8000, in
which the ratio of Male to Female is 3:5 and Graduate to Post-Graduate is 3:2. Based on the data in the table.

answer the question.

Department-wise Distribution of Employees, Males and Graduates.

Department Dirtribution (%0)
Emploves Males Groduates
A 20% 25% 16%
B 12% 18% 17%
C 10% 15% 13%
D 22% 20% 10%
E 13% 10% 20%
E 21% 12% 24%
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FHAIA!, g2 SR W] &1 [GHTTaR faaro
o TATRTT (%)
HHAR Y Hadh

A 20% 23% 16%

B 12% 18% 17%

C 10% 15% 13%

D 22% 20% 10%

E 15% 10% 20%

F 21% 12% 248,
The number of graduate employees working in department C is % of the number of Post-Graduate

employees working in department E.

1. 260
2.180
3. 160
4,120

1) 1

2) 2

(3) 3

4) 4

faunT ¢ & orikd I HHaial & 9 faurT & § erlkd wrEds sHaial of 9 o
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(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=30713] Question Description : general_paper_genarel paper_set 11_english_q4
2[Option ID=30714]

3[Option ID=30715]
4[Option ID=30716]
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The following table shows the percentage (%) distribution of total number of employees, males and graduates
of a company among six different departments A-F. The total number of employees of a company is 8000, in
which the ratio of Male to Female is 3:5 and Graduate to Post-Graduate is 3:2. Based on the data in the table.

answer the question.

Department-wise Distribution of Employees, Males and Graduates.

Department Dirtribution (%0)
Emploves Males Groduates
A 20% 25% 16%
B 12% 18% 17%
C 10% 15% 13%
D 22% 20% 10%
E 13% 10% 20%
E 21% 12% 24%

e drfcreT H el Sul & @: [aurl A - F & SH=iidl, goy SR |ide! @i ga Sl ol 9la=id
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FHAIA!, g2 SR W] &1 [GHTTaR faaro
o TATRTT (%)

HHAR Y Hadh

A 20% 23% 16%

B 12% 18% 17%

C 10% 15% 13%

D 22% 20% 10%

E 15% 10% 20%

F 21% 12% 248,

Total number of female employees in department F is % more than the total number of male employees

working in department A.

1.72
2.74
3.76
4. 80
1)1
(2) 2
(3) 3
(4) 4

mFﬁmWyﬁwmmﬁmAﬁmeﬁﬁﬁwm%
% HIUP B

.72
74
.76
.80

11
(2) 2
(3) 3
(4) 4
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1[Option ID=30717] Question Description : general_paper_genarel paper_set 11_english_q5
2[Option ID=30718]
3[Option ID=30719]
4[Option ID=30720]
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Arrange the five steps of understanding level of teaching (according to Morrison) in the ascending sequence :

A. Organisation
B. Assimilation
C. Presentation
D. Recitation
E. Exploration

Choose the correct answer from the options given below :
1.E.C,B.A&D
2.C,B,A,E&D
A CCD.B&E
D,E.C,CB&A

(4) 4

1 feu e fasedl o 9 9el STR &1 98- Sl

E.C.B.A3RD
.C,B,AE3RD
.A.C,D,B3RE
.D.E.C.,B3RA
) 1
(2) 2
(3) 3
(4) 4

B

1[Option ID=30721] Question Description : general_paper_genarel paper_set 11_english_q6
2[Option ID=30722]
3[Option ID=30723]
4[Option ID=30724]
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In model of teaching 'ADDIE!, the letters 'D', D' stand for :

1. Design and Development
2. Development and Deployment
3. Design and Deployment
4. Dedication and Development
(1) 1
(2) 2
3) 3
4) 4

fRreur & wSiSiangs (ADDIE) Alsa # D, D &1 3¢ §:

. HftareT 3R fgorg
faorg 3R aRfAgier
ST 3R aRfareE
1

() 2

(3) 3

(@) 4
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1[Option ID=30725] Question Description : general_paper_genarel paper_set 11_english_q7
2[Option ID=30726]
3[Option ID=30727]
4[Option ID=30728]
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In learning, classical conditioning effects are an example of :

1. Implicit Memory
2. Eidetic Memory
3. Retroactive Memory
4. Explicit Memory
1 1
) 2
3) 3
(4) 4

SHERTH H WREY S UHIE D1 U 36 o

1. P wR
2. TRITGTe Hfd
3. gdael wa
4. FEIE T
1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=30729] Question Description : general_paper_genarel paper_set 11_english_q8
2[Option ID=30730]

3[Option ID=30731]
4[Option ID=30732]

Sl. No.9
QBID:11201009

Which of the following are the vital elements of Pedagogical skills ?

A. Content knowledge

B. Personality of the learners

C. Students understanding of conceptions of the subject matter and learning
D. Intelligence of the learners

E. Teaching strategies

Choose the correct answer from the options given below :

1. Aand E Only
2.C.,Dand E Only
3.A.Band D Only
4. A, Cand E Only

(1) 1

) 2

(3) 3

(4) 4

Fafiaa d $19 e e SRl & 93 $@9a o
A. [qugasg &1 31

B. HftrH®dl &1 Afada

c. favgasg AR sifeH ST Soeasi o1 faendl & 993
D. &l @ gigare

E. TR1gfor urifa

=1 feu e faedl o 9 9gl 3Tk &1 98- ol

1. Had A IRE

2. HaAC, D IIRE
3.Pdd A, B ARD
4.PqAA, CARE

1) 1
(2) 2
3) 3
(4) 4

1[Option ID=30733] Question Description : general_paper_genarel paper_set 11_english_q9
2[Option ID=30734]




3[Option ID=30735]
4[Option ID=30736]
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SWAYAM Platform facilitates hosting of all courses taught in classrooms :

1. From 5th to Postgraduate
2. From Class 11th to Undergraduate level only
3. For Postgraduate only

4, From class 9th to Postgraduate

1 1

(2) 2

3) 3

(4) 4

WY (SWAYAM) WiewT d&msl & 9Ty U G2 ureassdl & dare- &l gare a4l |

. BET 581 Y RA® d&
. ad Bl 1] T WD Jd &R a5
. Had WD B
4. F& odl Y WHETD TP
1) 1
(2) 2
(3) 3
(4) 4
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1[Option ID=30737] Question Description : general_paper_genarel paper_set 11_english_q10
2[Option ID=30738]
3[Option ID=30739]
4[Option ID=30740]
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The appropriateness, meaningfulness and usefulness of the specific inferences made from the measures, is

called

1. Parallel Test Reliability
=

P
. Interrater Reliability
3. Test-Retest Reliability
4. Validity

1) 1

(2) 2

(3) 3

4) 4
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(1) 1

(2) 2

(3) 3

4) 4

1[Option ID=30741] Question Description : general_paper_genarel paper_set 11_english_q11
2[Option ID=30742]

3[Option ID=30743]
4[Option ID=30744]
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In survey based research in Social Sciences, when you decide to tell participants something false about the
purpose of the research, you are using

1. Active deception
2. Dehoaxing
3. Naturalistic observation
4. Sensitization
(1) 1
(2) 2
(3) 3
(4) 4
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(1) 1

(2) 2

3) 3

4) 4

1[Option ID=30745] Question Description : general_paper_genarel paper_set 11_english_q12
2[Option ID=30746]

3[Option ID=30747]
4[Option ID=30748]

Sl. No.13
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For testing difference in means of two independent samples with n; and n, , the number of items in the two

samples, respectively, the t-statistic is computed with the following degree of freedom.

l.ny+ny,—1
2.ny+ny -2
3n+tmn
4.ny+ny+1

) 1

(2) 2

(3) 3

4) 4

n; 3R n, G (& & Wi Uie=il & Al & 3R & uLieiur & Ty «-iRkegepig 7o Fafafad wdad
F BIfe YD AR B

l.ng+ny—1
2.np+ny -2
Jn;+n,
4.ny+tnp+1

) 1

(2) 2

(3) 3

4) 4

1[Option ID=30749] Question Description : general_paper_genarel paper_set 11_english_q13
2[Option ID=30750]
3[Option ID=30751]
4[Option ID=30752]

Sl. No.14
QBID:11201014

In bibliographies and footnotes, researchers often use the abbreviation 'ibid'., which means

1. in the same place
2. introduction
3. and the following
4. here and there
1) 1
(2) 2
(3) 3
(4) 4

T Ty gt oiR uTg fewoft & wiedal ura: HerdieR tibid' &1 TN &R 8, forget sl g:

. T = B ae!
TR

. IR Fafarad
. Tel 3R g8
1) 1

) 2

3) 3

(4) 4
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1[Option ID=30753] Question Description : general_paper_genarel paper_set 11_english_q14
2[Option ID=30754]
3[Option ID=30755]
4[Option ID=30756]

Sl. No.15
QBID:11201015
9

Answers to which among the following questions can be found in the 'Discussion’ section of a research paper 7

A. What kind of instrumentation was used in the study ?

B. How do your results relate to existing studies on the topic ?

C. What do the results mean ?

D. What were the results of any statistical tests ?

E. What new ideas emerge that you could evaluate in a subsequent experiment ?

Choose the correct answer from the options given below ;

A, B and C Only
.B. Cand D Only
.B.CandE Only
.C. D and E Only
1) 1
2) 2
(3) 3
(4) 4

oy g7 & it yr  fRefeiad § 9 T udi & 3R urd iy o 9o 82

A. HHg9 | [ YPR & IUBIU T W {641 1P

B. fawg W adam srag=i § amues et o1 $3 i fosgr o gedr &2

c. frwsf ot ardsar F g

D. Uifeas! usteur & Fremd @ 22

E. ¥4 & U IR [qaR a1 8, [oFahT 1m0 wRiad van & Hetid &R 9ahd o7

i fGU T fa el © 9 Hel STR 31 90 I

1. HaA A, B3R C
2. %EAB, C ARD
3.%ddB, C 3IRE
4. HAAC, D IRE

@ 1

() 2

3) 3

(4) 4

e

1[Option ID=30757] Question Description : general_paper_genarel paper_set 11_english_q15
2[Option ID=30758]
3[Option ID=30759]
4[Option ID=30760]

Sl. No.16
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From the communication viewpoint which one of the following is a cultural institution ?

1. Trade organizations
2. Political parties
3. Military alliances
4. Family

1)1

2) 2

3) 3

(4) 4

ol & 2 9, ek d oF 1P IReide dRHE g7

. IR 7134
TSP gd
g TEERA
ORaR

O

@ 1
) 2
3) 3




(4) 4

1[Option ID=30761] Question Description : general_paper_genarel paper_set 11_english_q16
2[Option ID=30762]
3[Option ID=30763]
4[Option ID=30764]

Sl. No.17
QBID:11201017

Which one of the following is excluded from the list of communication barriers ?

1. Physical
2. Semantic
3. Philosophical
4. Peychological
(1) 1
) 2
3) 3
(4) 4

oo arene ot g | Fafiiga @ it T8 5

 YRINE
3T
ARIEED
ECIGRIIEE

B O I

(1) 1

(2) 2

(3) 3

4) 4

1[Option ID=30765] Question Description : general_paper_genarel paper_set 11_english_q17
2[Option ID=30766]

3[Option ID=30767]
4[Option ID=30768]

Sl. No.18
QBID:11201018

Which of the following are forms of traditional media of communication ?

A Street demonstrations
B. Yakshagana

C. Puppetry

D. Hari Katha

E. Filmy dances

Choose the correct answer from the options given below :

1. A, B, C Only
2.B.C.D Only
3.C. D, E Only
4.A. D, E Only

1) 1

(2) 2

(3) 3

(4) 4

fafafEa § ®19-8 =9 9uwo & YRuiYes 719 82

A. F5% U

B. T&ATH

C. PaYddll 1A
D. gRaur

E. fperdt 9

4 fqu e fosetl § O 9a Sugad SR &1 997 SIfE:

1.$ad A, B, C
2.$ddB,C, D
3. %90 C,D,E
4. PAdA, D, E
@) 1
() 2




3) 3
4) 4

1[Option ID=30769] Question Description : general_paper_genarel paper_set 11_english_q18
2[Option ID=30770]
3[Option ID=30771]
4[Option ID=30772]

Sl. No.19
QBID:11201019

Effective classroom communication is intended to make learners acquire new

A. Knowledge

B. Behaviours

C. Soft skills

D. Ways of aggressive attitude
E. Hyper-reaction

Choose the correct answer from the options given below :

A, B, C Only
.B. C and D Only
.C. D, E Only
A.D.E Only

b =

S Y

1)1
(2) 2
3) 3
(4) 4

YA &7 TUN0 T I534 HET 31 &1 91 UeH FA1 82

A FAAIH

B. 04 &deR

C. A 919 SIed

D. 3TShTHD TG & 1 &I

E. 3=y srfshar
e fau e fodedl § 9 9ad Sugad SR &1 997 SIS

1[Option ID=30773] Question Description : general_paper_genarel paper_set 11_english_q19
2[Option ID=30774]
3[Option ID=30775]
4[Option ID=30776]

Sl. No.20
QBID:11201020

Given below are two statements:

Statement I : Inter-personal communication can be mediated or aumediated.

Statement II : On its part mostly, mass communication need not be mediated.

In the light of the above statements, choose the correct answer from the options give below:

1. Both Statement I and Statement I are true.
2. Both Statement I and Statement II are false.
3. Statement I is true but Statement II 1s false.
4. Statement I 1s false but Statement IT 1s true.

(1) 1
(2) 2
3) 3
(4) 4




RIECCAIC AR

HYA 1 : siqdaidds JUNUl aied I1 Sfddied &l 9adl g |

U 11 : VT S0P YT IR 5 SN0 &1 oafed 61 Sa<ad Tel g g |
SIRIT T2l & S1aie T =4 30 1 faeed 1 3 el SI &1 997 Sifed :

1L FEIARBFYTN A T E |
2. B AR BYF I AT ST E |
3. PYTIIIE IR BYTII 3T |
4. P A G IR BYT I TA© |
(1) 1
(2) 2
(3) 3
4) 4

1[Option ID=30777] Question Description : general_paper_genarel paper_set 11_english_q20
2[Option ID=30778]
3[Option ID=30779]
4[Option ID=30780]

Sl. No.21
QBID:11201021

A Picce of work can be done by 3 boys and 2 men jointly in 10 days. The same work can be done jointly by 2
boys and 3 men in 8 days. In how many days the same work can be done by 1 boy and 2 men jointly ?

115
T L]
.13.5
=145
1) 1
(2) 2
(3) 3
(4) 4

U G I 3 TSo 3R 2 3MeH! fiad 10 G H S 96d €1 30 & &1 2 T& 3R 3 e faad s
feT oY god g1 S TH &f 1 TS&T 3R 2 AEH! Hae a1 & s ane

o
oA 2:5
1358
.14.5
1)1
(2) 2
(3) 3
(4) 4
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1[Option ID=30781] Question Description : general_paper_genarel paper_set 11_english_q21
2[Option ID=30782]
3[Option ID=30783]
4[Option ID=30784]

Sl. No.22
QBID:11201022

After increasing the selling price of an article by 25%, the new price of the article becomes Rs. 250. Now a
discount of 25% is offered on the new price. What would be the profit or loss in percentage on the original

price.

1. Profit of 6.25%
2. Loss 0f 6.25%
3. Loss of 12.5%
4. Profit of 12.5%

(1) 1

(2) 2

3) 3

(4) 4




& H 25% 31 gf& T & ULId a%g T 7417 JeF 250 941 61 o1 81 39 T¢ eI R
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(1) 1

(2) 2

(3) 3

4) 4

1[Option ID=30785] Question Description : general_paper_genarel paper_set 11_english_q22
2[Option ID=30786]

3[Option ID=30787]
4[Option ID=30788]

Sl. No.23
QBID:11201023

If S is an even integer, then which of the following are true ?

A S+ 1 will be odd
25 - 1 will be odd

B.
C. 8%+ 1 will be odd
D. 82 -1 will be odd

E. 8%+ 2 will be odd

Choose the correct answer from the options given below :

1. Aand B Only
2.A,Band C Only
3.A.B, Cand D Only
4.C.D and E Only

1)1

2) 2

(3) 3

(4) 4

o s Ueh gHYUl ¥ g, a9 Hafiied 4 3§ -9 9d 82

A s+ 1 faygaErm
B.2S -1 fawH B
C.s?+ 1 fawm g
D.s2-1fasmgrm
E.s?+2 favm s
1 feu Tt fasedl o ¥ 9gl 3T &1 98- i

1. $ad A IRB

2. BAAA, B3R C
3. $dd A, B, C 3IRD
4.%ad ¢, D IARE

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=30789] Question Description : general_paper_genarel paper_set 11_english_q23
2[Option ID=30790]

3[Option ID=30791]
4[Option ID=30792]

Sl. No.24
QBID:11201024

IfA=2,Z =52 and CAT = 48 and BAT = 46. Then what will be the value of RAT + MAT ?

1. 78
2.146
3.68
4.148
1) 1
(2) 2




3) 3
4) 4

A =27 =52 3R CAT = 48 GUT BAT = 46 81 dl RAT + MAT & HH 54T 312

78
146
68
148

[

JUCS S}

1) 1
(2) 2

3) 3

(4) 4

1[Option ID=30793] Question Description : general_paper_genarel paper_set 11_english_q24
2[Option ID=30794]

3[Option ID=30795]
4[Option ID=30796]
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A takes twice as much time as B takes and thrice as much as C to complete a job. By working together A, B
and C can complete the job in 4 hours. Find the time taken by each of them separately to complete the job. i.c.
the time taken by A, B, and C respectively to complete the job.

1.(24,12,8)
2.(12,8,24)
3.(8,12,24)
4.(8, 16, 24)
(1) 1
(2) 2
3) 3
(4) 4
forelt ST ol THTG 3 H A S GRI TN 1 aTell 90 B & §RI T S arel 999 &1 SR SR ¢ &
GRT T W1 alel 999 BTAF-T 61 A, B, C U W1y (@R 39 S &1 4 B¢ T 90T B 9Pd 6 | 89
Y% GRI BTH & AT B H AT 7T S(eT-3e 9T &1 71d Siforg 3dfd A, B, ¢ Sl oM & &
o 31-3ET HH: fora-1 T9g aema

1.(24,12.8)
2.(12. 8, 24)
(8, 12,24)
(8. 16, 24)
1) 1
) 2
3) 3
(4) 4

S S}

1[Option ID=30797] Question Description : general_paper_genarel paper_set 11_english_q25
2[Option ID=30798]
3[Option ID=30799]
4[Option ID=30800]
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"The death penalty in certain western countries has led to increase in erime rate leading to greater number of
inmates in their prisons. Therefore, death penalty is not justifiable”. Which fallacy is committed in the above

argument 7

1. False Cause
2. Slippery Slope
3. Red Herring
4. Straw Man
(1) 1
(2) 2
(3) 3
(4) 4




"% GIEH! SR H HgaUs I SRIY X H gi& g3 © i SRUIasl &1 oidil # Biadl 1 6l H gfa g
G181 SN JGaUs Siud T8l o 1" SWRIad gfck & $14-91 debaly o7

1. TR
2. TP aegad ear (RTol @)
3. 38 BT

o
4. 919-gqa db-ay (L1H)
) 1
(2) 2
(3) 3
(4) 4

1[Option ID=30801] Question Description : general_paper_genarel paper_set 11_english_q26
2[Option ID=30802]
3[Option ID=30803]
4[Option ID=30804]
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If the statement - "All plants are green organisms" is given as false, then which of the following statements
could be immediately inferred to be true ?

A. No plants are green organisms

B. Some green organisms are plants

C. Some plants are green organisms

D. Some plants are not green organisms.

Choose the correct answer from the options given below :

A Only
.Band C
3. Aand D Only
4, D Only
1) 1
) 2
3) 3
(@) 4
afe HyF - it eRA o & & s & = u o R 8, a9 Fafafed P s s gas= &
U ¥ @Rd &4 U ATd @1 o 9l g2

A PIg 21t diey gikd Siia Tt g1
B. PO SRASa T &l
c.pUIYERa Al

D. O 1% gRd wild el o |

i feu T fawedl § O 95! 3R &1 904 $Iod:

b2 =

1[Option ID=30805] Question Description : general_paper_genarel paper_set 11_english_q27
2[Option ID=30806]
3[Option ID=30807]
4[Option ID=30808]
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Which of the following statements are so related that they cannot both be true, although both may be false ?

A, All fungi are living beings

B. No fungi are living beings

C. Some fungi are living beings

D. Some fungi are not living beings

Choose the correct answer from the options given below :

1. Aand C Only
2. Cand D Only
3. Aand B Only
4. Aand D Only

(1) 1

2) 2

3) 3

(4) 4

ﬁaﬁ%@aﬁﬁﬁ:{-@aﬁuﬁwwﬁ%%%%ﬁwm&wﬁfﬁw,wﬁaﬁﬁ I Bl
Jad el

A T Baw golla sId B

B. ®ig 1l Ho® Toitg 78l 8id &1

C. TO HIP Jola gid ¢

D. $® $dd uild Tol gld g |

4 fag U famedl & 9 99 Sugdd ST &1 99 DIt

1. FIAA MR C
2.%ad C 3R D
3.%ad A IR B
4. HAA A AR D

1

() 2

(3) 3

@) 4

1[Option ID=30809] Question Description : general_paper_genarel paper_set 11_english_q28
2[Option ID=30810]
3[Option ID=30811]
4[Option ID=30812]
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Which of the following statements are logically equivalent ?

A. No amphibians are mammals.

B. All non-mammals are non-amphibians.
C. All amphibians are non-mammals,

D. No mammals are amphibians.

Choose the correct answer from the options given below :

1. A, B and C Only
2. A, Cand D Only
3. A, B and D Only
4. Aand D Only

(1) 1

(2) 2

(3) 3

(4) 4




T BH-4 BuF alflds & 9 gage 6

A BT W IYTIR, TR el g
B. il TR, TRGUT=R B
. gt SUTR, IR-TURT B

D. B8 1 TR, SHT=R T8l 21

4 fau e fadedl & O 9ad Sugad SR &1 997 SIS

1. Had A, B3R C
. HAd A, C AR D
. HAdA. B AR D
4.%dd A AR D
1

2 2

3) 3

(4) 4

[V )

1[Option ID=30813] Question Description : general_paper_genarel paper_set 11_english_q29
2[Option ID=30814]
3[Option ID=30815]
4[Option ID=30816]
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According to the classical Indian School of logic (Nyaya) in the process of inference (anumana), the reasoning

proceeds from ;

1. Univerzal to particular only
2. Particular to universal only
3. Universals to Universals through particulars
4. Particulars to particulars through the universal
11
@) 2
3) 3
4) 4

< F YR YR Td & 3FaR A S Hichd1 I, THun 69 ¥ 59 IR Jedl o

1. Fad 9aE® I e & aRe
2. Had e ¥ HAEE B B
3. zeTdl & AT T grdHe 9 9dibe B e
4. TaE® AIH Y Seerd! ¥ e # v
11
(2) 2
(3) 3
(4) 4

1[Option ID=30817] Question Description : general_paper_genarel paper_set 11_english_q30
2[Option ID=30818]
3[Option ID=30819]
4[Option ID=30820]
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A digital camera contains a microprocessor . The camera's specification includes :

- 20 megapixel resolution

- 32 gigabyte memory card

- autofocus facility

If a compressed image file requires an average of 1 byte per pixel, then what is the maximum number of

photos that can be stored on the memory card ? ( 1 Kilo = 1024)

1. 1638
2.819
3.409
4. 732

1)1

(2) 2

3) 3

4) 4




% (e H0 U A iUEm 21 59 o & Ay (faftseser) § afffed

« 20 HeHIUaH ol
. 327fmeEEe gA ore
« 311 BIHY Biyfee!

Ife U SHIRS SHY BIgd & fog Wi e Siid | a15e 1A= © i S Bieid () 3t e
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1. 1638
2.819
3. 409
4,732
)1
(2) 2
3) 3
4) 4

1[Option ID=30821] Question Description : general_paper_genarel paper_set 11_english_q31
2[Option ID=30822]
3[Option ID=30823]
4[Option ID=30824]
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Which of the following statements about Bluetooth connectively are TRUE ?

A. Bluetooth will only work over long distances.

B. No wires are needed when exchanging files via Bluetooth.

C. Bluetooth allows you to speak hands-free on a Mobile phone.

D. Music can be played wirelessly from your Mobile phone to a speaker using Bluetooth.
E. Transfer speeds when sending files are faster than using Wi-Fi.

Choose the correct answer from the options given below :

1. Aand E Only
2. A.Band C Only
3.C.D. E Only
4. B, C and D Only
(1) 1
(2) 2
(3) 3
(4) 4

T & 9 -8 $y sgy FAfdead S aR H I g |

A. SCY Had ddl gRAI IR T ST

B. &g & HeOH Y BIgal &1 HGH-USH Bd GHY fbdl 1l IR St srazgesd] el gidl|

C. SCY US| a1 814 @Y U Hialsd BiH TR die adl 6|

D. 39 AiaTed B ¥ 61 aRR & &gy PT STAR R [P WIHR IR HTd qorrd] o goal § |
E. BTl Uold 919 dls-%ls & SUIN Pl ga-l & SfaRU1 &1 71fd digaR gidl o

=1 feu e faedl o 9 9gl 3Tk &1 98- ol

1. Had A IRE

2. BAAA, B3R C
3.%dd C,D ARE
4. P$TAB, C ARD

(1) 1
) 2
(3) 3
(4) 4

1[Option ID=30825] Question Description : general_paper_genarel paper_set 11_english_q32
2[Option ID=30826]
3[Option ID=30827]
4[Option ID=30828]
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Given below are two statements based on generic file type that can be opened in an appropriate software on
most platforms :

Statement I : A file saved in portable document format (.pdf) is a generic text file.
Statement IT : Moving Pictures experts group layer 4 (.mp4) is an example of generic image file format.
In the light of the above statements, choose the correct answer from the options given below :

1. Both Statement I and Statement II are true.
2. Both Statement I and Statement II are false.
3. Statement I is true but Statement II is false.
4, Statement I is false but Statement II is true.

1)1
(2) 2
(3) 3
4) 4

B RICAC1R) e
SR BIEd eBY & YR TR (o TS WehIR R TP 3ugdad JtedaR § @ial o Jadl 6

DU : Ulcad SIFGHE BIHE (.pdf) T YRIET BT TS TP BIgd U SRS coRe PIed 6
FYA 11 : G fUa= UaUCH 90 TaR-4 (mpd) SHIRS SHS Blgd DU & [P Jaevl gl
JRIF FUF o ATAH 1, Aid [4U T fadedl H U Yol IR &1 98- B IToTt:

HYTI AR NS A E |

CPYT IR IS AT |

YT I IO, AT YT I TS |
PY AHTA S, AfPT U IR |
(1) 1

(2) 2

(3) 3

(4) 4

B

1[Option ID=30829] Question Description : general_paper_genarel paper_set 11_english_q33
2[Option ID=30830]
3[Option ID=30831]
4[Option ID=30832]
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Which one of the following acronyms matches incorrectly with its full form ?

1. USB - Universal Serial Bus

2. RFID - Radio Frequency Infrared Device
3. CRT - Cathode Ray Tube

4. JPEG - Joint Photographic Expert Group

(1) 1

(2) 2

3) 3

@) 4

e o 8 o =-a1 uRaull 2ea 39 R =4 3 7Tod &7 4 gufad g
1.gugal. - Tiga a9

2. ARUP. 3115 3l - STl wiedl 3RS [Sagy
3. LR - PUS I A
4, S1HZ 5N, - Siec BIEmh® Taqqe 99

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=30833] Question Description : general_paper_genarel paper_set 11_english_q34
2[Option ID=30834]

3[Option ID=30835]
4[Option ID=30836]
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Identify the correct ascending order of the following list of stages A-E when text, written in magnetisable ink,
is passed over a Magnetic Ink Character Reader (MICR).

A. Ag each character passes over the head. it produces a unique waveform.
B. Characters are then passed over the MICR read head.

C. Ink on the paper is first magnetised.

D. MICR text is passed over an MICR reader.

E. The waveform is recognised by the computer system.

Choose the correct answer from the options given below :

JEDYB ALE

-I—UJIJI—I
el
QUO

.B, 4
L
+B,

rﬂ.,t-»"'

vE
s B
b,

(4) 4
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(TR SR,) TR ORI 911 § o FEfifad A-E & 901 &1 991 & o] RG] 5 31 Ted Siog|

A O TP 31&R XY & HUR ¥ TERA1 § ol 98 D ARy o1 0 e Al 6|
B. a{fﬁfﬁ@ &néﬁfsm’ Wﬁﬂﬁwwma

C. BT IR FaTYT M5! B JEH G (a1 1l 3

D. TH.3MT3. 1. 3R, 913 1 UH. 313, 41 3R, U6d R [6RI Al ¢ |

E. HIeR %ed a1 U &1 UgdH Rl g

=i fGU T fa el O 9 9g1 STR 31 98- SIieig:
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1[Option ID=30837] Question Description : general_paper_genarel paper_set 11_english_q35
2[Option ID=30838]
3[Option ID=30839]
4[Option ID=30840]
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Which of the following decades is known as United Nations Decade of Biodiversity ?

. 1991-2000

.2001-2010
3.2011-2020
4.2021-2030

1) 1

() 2

(3) 3

(4) 4

e & & oy axe &1 9gad Y & 9id ffaud] ax” & &9 § o1 9 82

b2 =

. 1991-2000
.2001-2010
2011-2020
2021-2030

[

da

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=30841] Question Description : general_paper_genarel paper_set 11_english_q36
2[Option ID=30842]

3[Option ID=30843]
4[Option ID=30844]
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Given below are two statements :

Statement I : Negative feedback effects tend to increase the magnitude of climate change.

Statement IT : Positive feedback effects tend to reduce the magnitude of climate change.

In the light of the above statements, choose the most appropriate answer from the options given below :

1. Both Statement I and Statement IT are correct.
2. Both statement I and Statement IT are incorrect.
3. Statement I is correct but Statement II is incorrect.
4, Statement I is incorrect but Statement II is correct,
(1) 1
@) 2
3) 3
(4) 4

- 3l Py U Mg &

FYA I : FPRIAS WGP YU STearg 9ikacdd &1 =1 Pl §gH B SR Ugd i 6|
FYF 11 : THRIAD WYY WHIG STaar] uRkad 1 HH1 &1 ge 3T 3R 999 e o
SR DY & 3feliep 1, =i 4T 7Y faspeui & U a8 Iugad IR &1 90 Bifoig:

1. BYTI ARSI Tl § |
2. FYF IR IS Tad g |
3. PYFITel e, AT pUF n Tad g |
4. FUFITEd 6, APT HUT N Tl & |

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=30845] Question Description : general_paper_genarel paper_set 11_english_q37
2[Option ID=30846]

3[Option ID=30847]
4[Option ID=30848]
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Adding organic materials, such as sewage or paper pulp. to water stimulates consumption of which chemical
by decomposers.

. Carbon dioxide
. Oxygen
3. Salts
4. Minerals
(1) 1
(2) 2
(3) 3
(4) 4

O H TS AT BITS B1 QTal ol Plal-d gari & s 9 sqgesd! gRI -5 1 § 69 388 &1 @ud
SEI Bl 82

b=

1. BE- SEAEES

2. 3o

3.7dur

4. @S

(1) 1

(2) 2

(3) 3

4) 4

1[Option ID=30849] Question Description : general_paper_genarel paper_set 11_english_q38
2[Option ID=30850]

3[Option ID=30851]
4[Option ID=30852]
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Given below are two statements :
Statement I : Flat plate collectors are example of simplest and most economic solar collectors.

Statement II : Some of the solar concentrating collectors essentially use flat plate collectors.
In the light of the above statements, choose the most appropriate answer from the options given below :

1. Both Statement I and Statement II are true.
2. Both Statement [ and Statement II are false.
3. Statement I is true but Statement II s false.
4. Statement I is false but Statement 1T is true.

11

@) 2

3) 3

(4) 4

TR APy

B [ : RIT T Hoige, YR Doigex & Jallvs Td SR Halivd Haed] e & |
U 11 : BITIY TR YHEU Heige Sara: RiT T Haaex] P19 &d g
JRIF HUAI & Al |, -id [SU Iy e O I Ug! IR &1 994 Hifole:

1L PYF IR IS AT |
2. PYF [ AR IS ST |
3. PUT I TU R, AT YT I 3T € |
4. PYT 3T S, AT FUT I TI® |
@) 1
() 2
(3) 3
(4) 4

1[Option ID=30853] Question Description : general_paper_genarel paper_set 11_english_q39
2[Option ID=30854]
3[Option ID=30855]
4[Option ID=30856]
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Which one of the following air pollutants has a very strong affinity towards haemoglobin (Hb) of blood ?

1. Carbon dioxide (CO,)
2. Carbon monoxide (CO)
3. Sulphur dioxide (SO,)
4. Nitrogen dioxide (NO,)

(1) 1

(2) 2

(3) 3

(4) 4

Prafiiad 3 8 ©19-8 Hgue B 0 B SRR afther s & U srafie sy a8

1. BTE 515 STEES (CO,)
2. e HHGEES (CO)
3. FePY BT 3HHES (SO,)
4. TSI STg HFIZS (NO,)
1) 1
(2) 2
3) 3
(4) 4

1[Option ID=30857] Question Description : general_paper_genarel paper_set 11_english_q40
2[Option ID=30858]
3[Option ID=30859]
4[Option ID=30860]
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Takshashila is an important archaeological site and UNESCO declared it to a world Heritage Site in the year

. 1980
. 1990
3.1992
4. 1978
1)1
(2) 2
3) 3
4) 4

A& T He@yul RRIaae e ¢ AR T A 24 fovd avf § ua oy eRiex wud Hiftd foear ur

. 1980
. 1990
. 1992
. 1978
1) 1
(2) 2
(3) 3
(4) 4
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R

1[Option ID=30861] Question Description : general_paper_genarel paper_set 11_english_q41
2[Option ID=30862]
3[Option ID=30863]
4[Option ID=30864]
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Who among the following founded the Imperial Library which he wanted to see as a Future Bodleian Library
or a British Museum of the East ?

1. Lord Curzon

2. Lord Canning

3. Charles Wood

4, Lord Mount baton

(1) 1
(2) 2
3) 3
4) 4

fFrafafaa o 9 feou sriifaa areskl & R 31 2, 59! a8 U@ WTat alsfor dressl a1 4d & U
fsfewr GueTe & =0 o S8 =Ed 22

1. 1S Poid
2. S BT
3. 91 38
4. 9IS Ardeaed
(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=30865] Question Description : general_paper_genarel paper_set 11_english_q42
2[Option ID=30866]

3[Option ID=30867]
4[Option ID=30868]

Sl. No.43
QBID:11201043

IGNOU hosts secretariats of the SAARC consortium on open and distance learning (SACODIL) and the
Global Mega Universities Network (GMUNET), initially supported by :

1. UNDP
2. UNESCO
3. UNHCR
4. UNICEF
1)1
(2) 2
3) 3
(4) 4
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(1) 1

(2) 2

(3) 3

4) 4

1[Option ID=30869] Question Description : general_paper_genarel paper_set 11_english_q43
2[Option ID=30870]

3[Option ID=30871]
4[Option ID=30872]
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What is the full form of 'SAMVAY' ?

1. Skill Achievement Matrix for vocational Assessment of Young
2. State Authority Ministry for Veterinary Achievement of Youth
3. Skill Assessment Matrix for Vocational Advancement of Youth
4. State Analysis Maintenance for various Analysis of Young

(1) 1

(2) 2

3) 3

4) 4

'SAMVAY' (UH.U.UH.d1.d18.) ST 01 11 &1 g2
1. 5@ fEiatic Afcas TR AIbId SRSHe 3H 3
2. wT R g ok deRad srllare e gy
3. [opa sriute Ofdad ®R didbyHd Usdiaie 3P gy
4, e U He-y ik ooy TR offs o
@) 1
2) 2
(3) 3
@) a

1[Option ID=30873] Question Description : general_paper_genarel paper_set 11_english_q44
2[Option ID=30874]
3[Option ID=30875]
4[Option ID=30876]
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Given below are two statements :

Statement I : As per NEP-2020, National Research Foundation (NRF) will constitute a National Committee
for the Integration of Vocational Education (NCIVE).

Statement IT : As per NEP-2020, Model Public Universities for holistic and multidisciplinary education, at
par with T1Ts, IIMs, called MERUS (Multidisciplinary Education and Research Universities) will be set up to
attain the highest global standards in quality education

In the light of the above statements, choose the most appropriate answer from the options given below :

1. Both Statement I and Statement IT are correct,
2. Both statement I and Statement IT are incorrect.
3. Statement I is Correct but Statement II is incorrect.
4, Statement I 1s incorrect but Statement II is correct.
(1) 1
(2) 2
(3) 3
(4) 4
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(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=30877] Question Description : general_paper_genarel paper_set 11_english_q45
2[Option ID=30878]

3[Option ID=30879]
4[Option ID=30880]
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Read the following passage and answer the question :

Kant's claim that liberal states are pacific in their international relations with other liberal states was revived in
the 1980s. In a much-cited article, Michael Doyle argued that liberal states have created a 'Separate peace’.
According to Doyle, there are two elements to the Kantian legacy, restraint among liberal states and
'international imprudence' in relations with non-liberal states. Although the empirical evidence seems to
support the democratic peace thesis, it is important to bear in mind the limitations of the argument. In the first
instance, for the theory to be compelling, believers in the thesis need to provide an explanation as to why war
has become unthinkable between liberal states. Kant had argued that if the decision to use force were taken by
the people, rather than by the prince, then the frequency of conilicts would be drastically reduced. But,
logically. this argument also implies a lower frequency of conflicts between liberal and non-liberal states, and
this has proven to be contrary to the historical evidence.

An alternative explanation for the democratic peace thesis might be that liberal states tend to be wealthy, and
therefore have less to gain ( and more to lose) by engaging in conflicts than poorer authoritarian states.
Perhaps the most convincing explanation of all is the simple fact that liberal states tend to be in relations of
amity with other liberal states.
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Given below are two statements : One is labelled as Assertion A and the other i1s labelled as Reason R.

Assertion A : Historical evidence suggests that the frequency of conflicts between liberal and non-liberal
states is low.

Reason R : In liberal states, the decision to go to war is taken by the people, rather than by the monarch.
In the light of the above statements, choose the most appropriate answer from the options given below :

. Both A and R are correct and R is the correct explanation of A.

. Both A and R are correct but R iz NOT the correct explanation of A.
. A is correct but R is not correct.

. A is not correct but R is correct.

1)1
(2) 2
(3) 3
(4) 4

= & YA AT U §: U SHUHYT (Assertion A) & F9 8 [AR@d 8 ol GIR1 39D BRUI (Reason R) &
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Read the following passage and answer the question :

Kant's claim that liberal states are pacific in their international relations with other liberal states was revived in
the 1980s. In a much-eited article, Michael Doyle argued that liberal states have created a 'Separate peace’.
According to Doyle, there are two elements to the Kantian legacy, restraint among liberal states and
'international imprudence' in relations with non-liberal states. Although the empirical evidence seems to
support the democratic peace thesis, it is important to bear in mind the limitations of the argument. In the first
instance, for the theory to be compelling, believers in the thesis need to provide an explanation as to why war
has become unthinkable between liberal states, Kant had argued that if the decision to use force were taken by
the people, rather than by the prince, then the frequency of conilicts would be drastically reduced. But,
logically, this argument also implies a lower frequency of conflicts between liberal and non-liberal states, and
this has proven to be contrary to the historical evidence.

An alternative explanation for the democratic peace thesis might be that liberal states tend to be wealthy, and
therefore have less to gain ( and more to lose) by engaging in conflicts than poorer authoritarian states.
Perhaps the most convincing explanation of all is the simple fact that liberal states tend to be in relations of
amity with other liberal states.

FgfcIRad eIl &I ulgd 3R WY &1 IR I/ |
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Identify the inferences that you can draw after reading the passage.

A. Frequency of conflicts among the liberal states is low.
B. Frequency of conflicts between liberal and non-liberal states is low.
C. Liberal states are generally rich.

Choose the correct answer from the options given below :

1. Aand B Only
2.B and C Only
A and C Only
A BandC

g ¥V

1) 1
(2) 2
(3) 3
(4) 4

T @1 Ug= & a1¢ 19 99 & Y HH-3 ey Foma I@d 82
A. IR Idl H U9 & SRERA PH ¢ |

B. 3aR 3R HER Il & di= 99y &1 gRERAl $H g
C. BER Iog R 4T B

19 fqu e fasedl § 9 9a Sugad SR &1 997 SIfe:

1. HadA IR B
2. HAAB AR C
3. PaAAIRC
4.A,B3RC

(1) 1
(2) 2
(3) 3
4) 4
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Read the following passage and answer the question :

Kant's claim that liberal states are pacific in their international relations with other liberal states was revived in
the 1980s. In a much-cited article, Michael Doyle argued that liberal states have created a 'Separate peace’.
According to Doyle, there are two elements to the Kantian legacy, restraint among liberal states and
'international imprudence' in relations with non-liberal states. Although the empirical evidence seems to
support the democratic peace thesis, it is important to bear in mind the limitations of the argument. In the first
instance, for the theory to be compelling, believers in the thesis need to provide an explanation as to why war
has become unthinkable between liberal states. Kant had argued that if the decision to use force were taken by
the people, rather than by the prince, then the frequency of conilicts would be drastically reduced. But,
logically, thiz argument also implies a lower frequency of conflicts between liberal and non-liberal states, and
this has proven to be contrary to the historical evidence.

An alternative explanation for the democratic peace thesis might be that liberal states tend to be wealthy, and
therefore have less to gain ( and more to lose) by engaging in conflicts than poorer authoritarian states.
Perhaps the most convincing explanation of all is the simple fact that liberal states tend to be in relations of
amity with other liberal states.
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Given below are two statements : One is labelled as Assertion A and the other is labelled as Reason R.

Assertion A : Liberal states have very little to gain and much to lose by going to war.

Reason R : Liberal states are generally wealthy.
In the light of the above statements, choose the most appropriate answer from the options given below :

. Both A and R are correct and R is the correct explanation of A.

Both A and R are correct but R iz NOT the correct explanation of A.
3. Ais correct but R is not correct.
4. A is not correct but R is correct.

(1) 1

(2) 2

(3) 3

4) 4
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3) 3
(4) 4
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Read the following passage and answer the question :

Kant's claim that liberal states are pacific in their international relations with other liberal states was revived in
the 1980s. In a much-ecited article, Michael Doyle argued that liberal states have created a 'Separate peace’.
According to Doyle, there are two elements to the Kantian legacy, restraint among liberal states and
'international imprudence' in relations with non-liberal states. Although the empirical evidence seems to
support the democratic peace thesis, it is important to bear in mind the limitations of the argument. In the first
instance, for the theory to be compelling, believers in the thesis need to provide an explanation as to why war
has become unthinkable between liberal states. Kant had argued that if the decision to use force were taken by
the people, rather than by the prince, then the frequency of conilicts would be drastically reduced. But,
logically. this argument also implies a lower frequency of conflicts between liberal and non-liberal states, and
this has proven to be contrary to the historical evidence.

An alternative explanation for the democratic peace thesis might be that liberal states tend to be wealthy, and
therefore have less to gain ( and more to lose) by engaging in conflicts than poorer authoritarian states.
Perhaps the most convincing explanation of all is the simple fact that liberal states tend to be in relations of
amity with other liberal states.

FrafaRad Tei=r & ufed SR Uy &1 IR aifol |
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What can be said about the liberal states after reading the passage ?

A. Liberal states tend to maintain peace with all other states.

B. Liberal states tend to maintain peace with other liberal states.
C. Liberal states tend to be wealthy.

D. Decizion to go to war is taken democratically in liberal states.

Choose the correct answer from the options given below :

1. A, B and C Only
2.B.Cand D Only
3. A, Cand D Only
4. A, B.CandD

1y 1

(2) 2

3) 3

(4) 4
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Read the following passage and answer the question :

Kant's claim that liberal states are pacific in their international relations with other liberal states was revived in
the 1980s. In a much-cited article, Michael Doyle argued that liberal states have created a 'Separate peace’.
According to Doyle, there are two elements to the Kantian legacy, restraint among liberal states and
'international imprudence' in relations with non-liberal states. Although the empirical evidence seems to
support the democratic peace thesis, it is important to bear in mind the limitations of the argument. In the first
instance, for the theory to be compelling, believers in the thesiz need to provide an explanation as to why war
has become unthinkable between liberal states. Kant had argued that if the decision to use force were taken by
the people, rather than by the prince, then the frequency of conflicts would be drastically reduced. But,
logically. thiz argument also implies a lower frequency of conflicts between liberal and non-liberal states, and
this has proven to be contrary to the historical evidence.

An alternative explanation for the democratic peace thesis might be that liberal states tend to be wealthy, and
therefore have less to gain ( and more to lose) by engaging in conflicts than poorer authoritarian states.
Perhaps the most convincing explanation of all is the simple fact that liberal states tend to be in relations of
amity with other liberal states.

FafaRad T 31 ufed SR Uy &1 IR il |

BHic o 39 GId DI 1980 D G H ASHIdd b T STy SR SGR I U S=RIIBI Gl H 37 3aR
ﬂﬁqﬁmmwwﬂfaﬁ%waﬁmé@ﬁwm%ﬁéﬁ%%wwﬁﬁw T 2T~ BT ol
fh a1 B | ST & 3FUR Pic b AT &b &l dcd 3- IGR Asdl H ITHTH R 3JeR-Idl & Iy i #
SRS oSl | Tl S yas Hed didbditid i SGUR0T &1 YA Fd §U TN 8id g, 39 b @1
Trarait IR WY &g 37 98y o | UUH: o 39 R & AhTed gF & 1T, 39 3@yRon H fa4rg &= arell 31 39
1A &1 WEIHIU AT SaRID ¢ [ SGR Aol & did & a1 SFqeHa/HTddrd gl 1 g | Hic 4 gg ddb 1641 4T [ afe
-1 1 HU AGHAR & oI SdT gRT &1 SITdl dl SHui &l SRR 9gd ol &H gl Sl | cid difhd
‘@lsﬂg?&rﬁ 3aR IR 3HER Al & did Y96 D IRERAT FR gH1 41 8, didh Tiagis 91ed 29 faulia
s |

Al i ifd AR & [T TP dbicds Wyiau 98 Hi gl Yahdl ¢ fh 3aR 0 95< 8id ¢ iR FeFa
ST el 1 gl H g | FHeId giF U S a1y S 3R g1 SATal g1 1 SrHTaHT gIdl § | Trad:
ﬂﬂ’ffﬂ;?;?gmmtqm WHIHRN g WH/AR d ¢ fb IR Iodl # 3= IGR edl & iy HAYUf Gra 3G i
EGIN I

Given below are two statements :

Statement I : There exists international wisdom when it comes to relations with non-liberal states.

Statement IT : Liberal states tend to maintain enmity with other liberal states.
In the light of the above statements, choose the most appropriate answer from the options given below :

1. Both Statement I and Statement II are correct.

2. Both statement I and Statement IT are incorrect.

3. Statement I is Correct but Statement II is incorrect.
4. Statement I 1s incorrect but Statement II is correct.




1) 1
(2) 2
(3) 3
(4) 4
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1) 1

(2) 2

(3) 3
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Which were the leading countries in the world in terms of forest depletion between 1990 to 2015 as per the Food and
Agriculture Organisation?

. Brazil and Democratic Republic of Congo
. Russia and China

. Brazil and Indonesia

. Russia and Canada

1) 1

) 2

3) 3

(4) 4
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Which are the largest and second largest natural gas producing countries of the world according to United Nations Energy
Statistics 20227

. USA and Russia

. Russia and USA

. USA and Saudi Arabia

. Russia and Saudi Arabia
1) 1

) 2
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